a2

Matrices

N

Name:

G (YR

DI [123 g] . 7[140

1) 2 Zl[qs 2
3 5 7
2 71111 2
7 2 3
4) 5 7117 1
3 9 4
5 1l ?
5 7 3

Solve the matrices.

P I R

1
5) 6 7 3] +9 20
5 11 5 7

Solve the matrices.

2) 2 2ffp 2
3 3 3

2 2 2

2 %213 =

3 3 3
55 2 3l[13 1
2 7 2

8 7 1
2 017 =

3 2 3

Date:

R

J+ 05 3

6) 13 3
'11104]
3)§l6§
5 3 5
5 9llg 1
2 7 2
o & 2[o :
3 §5 3
7 2]y 2
2 7 5
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a2

Matrices

N

Name:

Solve the matrices.

y §([10 2, [7
5(14 3]+[11
== 18
5
30 %
[13 7] [10
44 0
24 32
1) 2 2|4 2
3 5 7
9 7 5
7 21 3
72 2
5 21
809 1931
14 294
4) 5 7 17 1
3 9 4
6 1 7
: Sl° 3
290 241
9 108
739 19
35 30

) A
5 3l
2 2
12 3
10
é] " 5 9 5] 9[ ] !
Undefined

Solve the matrices.

2) 2 2ffp 2 3)
3 3 3
2 2 2
2 2|3 <
3 3 3
10 8
3 9
10 8
3 9
55 2 3l[13 1 6)
2 7 2
8 7 1
g 7 =
3 2 3
49 83
2 84
355 5
6 2

Date:

9o/14 7 11 5
E([z 5]+[3 2
=2 54
2
45 63
2 2
13 3
11110 4]
[—143 —33
—110 —-44
3 1 8
s 3| s
5 9 1
2 A1° 3
33 169
5 150
186 65
7 14
8 2 1
s 5|12 3
7 2ffq 3
2 7 5
142 254
5 225
485 281
14 210
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